
V = 25m³ 
 
 

 
Volumen 

a = 20dm 
b = 12,5m 
c = 1m 

 
Volumen 

V = 36cm³ 
 
 

 
Volumen 

a = 18cm 
b = 20mm 
c = 10mm 

 
Volumen 

V = 55dm³ 
 
 

 
Volumen 

a = 0,5m 
b = 110cm 
c = 100mm 

 
Volumen 

V = 80dm³ 
 
 

 
Volumen 

a = 8dm 
b = 50cm 
c = 20cm 

 
Volumen 

V = 60m³ 
 
 

 
Volumen 



a = 10m 
b = 30dm 
c = 200cm 

 
Volumen 

V = 64m³ 
 
 

 
Volumen 

a = 80dm 
b = 400cm 
c = 20dm 

 
Volumen 

V = 56dm³ 
 
 

 
Volumen 

a = 7dm 
b = 0,4m 
c = 20cm 

 
Volumen 

V = 12,5cm³ 
 
 

 
Volumen 

a = 25cm 
b = 0,5cm 
c = 10mm 

 
Volumen 

V = 8cm³ 
 
 

 
Volumen 

a = 0,02m 
b = 0,04m 
c = 1cm 

 
Volumen 



V = 30dm³ 
 
 

 
Volumen 

a = 2dm 
b = 7,5dm 
c = 20cm 

 
Volumen 

V = 42cm³ 
 
 

 
Volumen 

a = 0,7dm 
b = 0,03m 
c = 0,2dm 

 
Volumen 

V = 51m³ 
 
 

 
Volumen 

a = 3m 
b = 85dm 
c = 2m 

 
Volumen 

V = 39dm³ 
 
 

 
Volumen 

a = 0,15m 
b = 1,3m 
c = 2dm 

 
Volumen 

V = 2cm³ 
 
 

 
Volumen 



a = 10mm 
b = 1cm 
c = 0,2dm 

 
Volumen 

V = 77mm³ 
 
 

 
Volumen 

a = 7mm 
b = 5,5mm 
c = 2mm 

 
Volumen 

V = 12mm³ 
 
 

 
Volumen 

a = 0,2cm 
b = 0,03dm 
c = 2mm 

 
Volumen 

V = 24m³ 
 
 

 
Volumen 

a = 3m 
b = 40dm 
c = 200cm 

 
Volumen 

V = 17m³ 
 
 

 
Volumen 

a = 8,5m 
b = 10dm 
c = 2m 

 
Volumen 
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